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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (70 points)
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Read the description below and then answer questions 1-7.

10

A DIFFERENT KIND OF FARM

People are always looking for unusual places to visit. One place that is both
unusual and fun is a pizza farm.

What is a pizza farm? A pizza farm is a small farm in the shape of a huge. round
pizza. It has eight sections of land. Each section looks like a slice of pizza™. The
farmer grows what he needs to make pizza on his farm. For example, he can
grow tomatoes in one section. In another section he can grow green peppers.
In a third section he can keep cows. He uses the milk from the cows to make

cheese for the pizza.

When people visit, the owner shows them the farm. He explains what is in each
section. Afterwards, he takes the visitors to the kitchen. There they make their

own pizzas and then enjoy eating them.

There are pizza farms all over the United States. People come from far away to
visit them. Owners of these farms like to have the farms because they earn a lot

of money from this unusual idea.

* a slice of pizza — N¥o wMwN — Lo, KNEH
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The writer tells us that people come from far away to visit pizza farms to
people in the United States travel a lot

Why do farmers have pizza farms? (lines 12-14)

What can visitors do on the farm? (lines 9-11)

What does the farmer tell visitors? (lines 9-11)
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Read the article below and then answer questions 8-12.

NEWS FOR CHOCOLATE LOVERS

We all know that eating too much chocolate can be bad for our health. But now
there's a new problem with chocolate. Soon there won't be enough of it for

chocolate lovers to enjoy.

There are two reasons for this problem. The first reason is recent changes in the
weather. Today the weather is very hot and dry in many countries. This makes
it hard to grow cocoa beans™. Chocolate companies use these beans to make
the chocolate we eat. A second reason for this problem is that people are eating

more chocolate today, especially in China and India.

Farmers are now growing a new kind of cocoa bean. They believe that this bean
can grow well in hot, dry weather. However, chocolate from this new bean isn't
as tasty as the chocolate we eat today. Chocolate companies will have to add
things like nuts and fruit to the chocolate to make it taste better. But this will

make the chocolate more expensive.

Some scientists think the situation is not so bad. They say there are still enough
cocoa beans to make the chocolate we like. So, the world's chocolate lovers

don't need to panic yet.
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12 points)
(6 points)
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- 7 -
Companies need to add to the chocolate from this bean.

Chocolate from this bean tastes good.
Farmers in India grow this bean.
This bean grows well in hot, dry weather.
It is expensive to grow this bean.
“there are enough cocoa beans for now
companies are making more chocolate today

Chocolate lovers don't have to panic yet because (—). (lines 14-16)
more people are eating chocolate

PUT A v BY THE TWO CORRECT ANSWERS. (lines 9-13)

What do we know about the new kind of cocoa bean?
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ACCESS TO INFORMATION FROM SPOKEN TEXTS (30 points)

(4r330) & sammodl ggh : S fuadll

It is best to start answering the questions after the first broadcast of the

Before the first broadcast, read questions 13-18.

The passage will be broadcast TWICE.

passage.

-

You are about to hear the passage Talking to a Magician.
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Answer questions 13-18 according to the broadcast. In all the questions
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circle the number of the correct answers.
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13. Why did Mark decide to become a magician?
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1) His friends showed him magic tricks.
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i) His father had a magic store.
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iii)  His family loved to see him do tricks.
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14. Why is it easier to play tricks on adults than on children?
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1) Adults think they understand everything.
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ii) Adults have a lot of imagination,
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iii)  Adults know how to do magic tricks.
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Which magic school is best.
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It gave him an idea for a new trick.
They understand what he is doing.
He likes when people watch him.

She liked his magic tricks.
He bought flowers from her.
He makes a lot of money.
enjoy teaching children

like to be alone at home

Why does Mark tell us about seeing a woman selling beautiful flowers in
be a good actor

According to Mark, to be a good magician you have to ().

Why does Mark enjoy doing tricks for people?

the street?
1)

i)

iii)

)

11)

iii)

1)

ii)

iii)

'N1D7),401.,0161027’D1 ,3 TYIN N"ywn 000N

16.
17.
18.




